Some Mid-Term Stuff
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5. A good way to misrepresent the display of vertical bar graph data is:

a.  use wrong and made-up numbers
( b) do not start the vertical axis at zero

c.  use wonky colours

d.  use a horizontal bar graph instead of a vertical bar graph
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6. If2x + 7= 8; what is the value of x? 9.)(_ = _L tnde the double
\>
a. 3 b. 0.5 c. 0 d. none ofthcschp
= = CLQ‘:
3‘(.«5{' test eac Swer to * /;‘ B e !
See. what Works
8. 10,000 square cm (cm?) is the same area as:

Phtt“'c 5 "‘\’La
LRy Sy > A football field P A"

V°|_'E"'"' 3 ¥ the volumc of a box of popcorn /

na N"U-‘n

ONG,
@ 1 square metre (_ /,_J 190, | 10,0000

wer lo0

)d\./ a tube of tooth pastc doege £ Make sense

7. Aninvestment that has interest compounded quarterly has interest calculated:
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9. A cube with a square base of area 16 in’ has a corresponding square pyramid with the same
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10.  The surface area of a sphere of radius 5 cm is:
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2. Kyle wants to borrow some money from a Pay Day loan company. He borrows $600 for
two months. Normally compound interest is used, but for a short period the simple interest
calculation gives the same answer within a couple dollars. He pays them back a total of $700.
What annual interest rate (%), r, was Kyle paying for the use of that money (use simple

interest)? I= Pr .
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I. . Wanda borrows $2,2§0 from her aunt for six months. Her aunt charges her simple
interest of 10% annual interest rate (APR). T = PP"t

a.  How much inferest does Wanda hzgc to pay for the use of her aunt’s money, and
The interest. s

$
b.  whatis Jt’_hc total amount Karen pays back to her aunt? She pays tock3310
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b) A= P+1 ='F.:l,iloo +‘ﬁlb =$a‘3|a

3. Alyssia’s uncle bought her a $2,500 Canada Savings Bond (CSB) from the government
on the day she was born. It pays 10% annual interest compounded monthly. On her 2"
birthday her uncle gavc it to _};cr What is thc total valucamount, A, of her CSB after that 21
years? = ((+5) —
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4. Josh wants to take a loan to buy a car. The total cost he is going to finance with a loan is
$24,000. He negotiates an Annual Percentage Rate [APR] of 20% over a term of three years

with regular monthly payments. (bfw: 20% is a very bad and predatory rate if you are
borrowing!)

by paymest” 891,81
a.  how much are Josh’s monthly payments? = MD"{' l] P 1

b.  how much interest does Josh end up paying on the $24,000 loan over the three

years? What does his car cost after all the payments?  yeciar 4 vear 12 vears|3 Years|i
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5. Find the volume and surface area of the cylinder

a. Volume: in’
b.  Volume: ft* (tricky!)
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4. Josh wants to take a loan to buy a car. The total cost he is going to finance with a loan is
$24,000. He negotiates an Annual Percentage Rate [APR] of 20% over a term of three years

with regular monthly payments. (brw: 20% is a very bad and predatory rate if you are
borrowing!)

c.  Josh’s favourite uncle says that is silly! He is confident in Josh and trusts him and
will loan Josh the $24,000 at 10% APR compounded monthly and Josh can just pay him
back the loan plus interest after five years in one lump sum payment. How much interest

does Josh pay to borrow from his uncle? Vzliat ijao)f:s Josh’s car end up costing overall?
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6.  Here is a table of some observed bus arrival times at a bus stop.

Bus 08:25 | 08:26 | 08:27 | 08:28 | 08:29 | 08:30 | 08:31 | 08:32 | 08:33 | 08:34 | 08:35

Arrival -

Time leTRL
Frequency [2 |2 [6 |9 |11 [14 [14 |11 _[6 1 10 -{_y;rs

3
a.  Plot a properly labelled histogram. BI-IS arriva r {l:hl.',s

(scale the vertical axis if necessary)
b.  what percentage of the observed arrival ,r
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7. Erick did a survey of students’ favourite math

subject, Here are his results,

8. There are six rezs (not in a line) that are being connected by roads, each rez to each rez with
a separate road. How many roads will there be? [hint: Draw! and/or Use Formula]

50 students surveyed

Favourite | Count % Degrees
Subject

Geometry 8 16 79 Y 8 ]
Trig 3 ‘ ‘7" aln ;
Finance 5 jo%g | 3¢° DA &
Fractions $ 6% | 5%° 7
Algebra 26 537 187

Tukal 2 |50

Geod 8= 167, ; 16-3C0 258

Triq > 3o = 6%
’ S/s0™ 0% 3 107,-3¢0 =3¢’
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9. If three (of the same) pizzas and a $4 two-litre of coke costs a total of $41.20. How much

(7300 % 32°
5+4:342+4 1 +O0 =5

9. If three (of the same) pizzas and a $4 two-litre of coke costs a total of $41.20_How much
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does one pizza cost? Guess and necke. does one pizza cost?
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10. Chery! has two quarters, two dimes, and a nickel. If she randomly selects just two coins
how many different sums (amounts) of money can she make?
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12. From the map below find the distance from Bernice’s house to Patricia’s house, Distance

_ﬁ_km Find the scale as : 1 cm=(),¥343 km. Find the scale ratio: _ 1: :ﬂ;‘m
or F18m \/
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[1. Ifa pizza and one can of coke costs $15 and a pizza and two cans of coke costs $17. Then

how much does a pizza cost? [Logic, and/or Work Backywards, and/or Gyess and Check]
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13. Complete the Simple Interest rf\f-ib _T_ Prt
A 1 p r t
o 181 48] [S] [Yolyr] [years]
112,250 | 72,250 10,000 7.5% 3
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13. Complete the Simple Interest table:

A= P+T
A 1 P r t
[S] 8] 8] [%o/yr] [years]
5
6,000 ¥ [ 500 4,500 r=6.C7% 2
/,-', 400 "0 400 fa) 5
| }500 ‘I-S’OO red; /J5m='7,ow-r-) - I,Sao_’ o
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14. Complete the table for Compound Interest using the compound interest formula. Do the
last one recursively as well (step by step, year by year).

A P r Compounding n |
Total Principal APR period time Interest
amount [$] [%/yr] [years] [$]
[$] . :
& 1,064,03| 1,000 1.5% daily Jyears  [PCY. 03
5] 4,000 10% %‘s_annually 2 years
o) A= Lo (] °°°'5) =#|pl¢. 03
|
b l-r [15%) + 400 = Y400 tnd yeav
) 4, oo + '-Ho = '*l-&‘l-o end Yeard
Check, $tmo- (14 %) Hegyo

14. Complete the table for Compound Interest using the compound interest formulaS Do the
last one recursively as well (step by step, year by year). — h*
A=P (1475

A P r Compounding n I
Total Principal APR period time Interest
amount [8] |%lyr] [years] 18]
¢
Qlo, 14:},5{' 5,000 8% monthly 9 years 1524165
l) ?‘i‘-} 49! 750 12% weekly 6 months $ 4. 2%
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16247, 65118
TS 148, 12525
CH, S5*52)

2
797. 3841258

15. Make a table and graph the two lines:
a. y=x+4 X ':].
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16. Fractions (use a calculator if you really must, hopefully not!)

a 1%*6= b. 1§+6= 1§+6§=
NS N e 146+ Yrke 2 %
:8'/7

d e63-43= e. 5+43= 23,2
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Bonus (2 marks if you need them)

® Texas INSTRUMENTS  T1- 83 Plus

5_1___2_[_ [::5"'1-’5) C2+1-80r
5 8 Frac

123,48

- %, %

BONUS (2 marks if you need them)

Calculate the volume of this rectangular

pyramid that is 320 cm high.
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